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Monthly averaged wind velocity by MF radar at Tromsoe for July 2003

North

mean sigma = 22.553

mean sigma = 22.390

20

o

mean sigma = 22.264

mean sigma = 20.897

0 4 8 12 16 20 0
mean sigma = 21.539

0 4 8 12 16 20 0
mean sigma = 19.837

0 4 8 12 16 20 0
mean sigma = 18.042

0 4 8 12 16 20 0
mean sigma = 18.525

0 4 8 12 16 20 0

o
o

o ‘s‘%

a o
o O

&
S

East

mean sigma = 25.192

E
©
~
>
3
[S)

mean sigma = 23.662

100 F E|
50~ E
OWW """""""" E

-100E 3
0 4 8 12 16 20 0

mean sigma = 22.793

100F El
50 =
(]I TA VTP B T IS VL (AR TG R VAV 1~
-50F E

-100E 3
0 4 8 12 16 20 0

mean sigma = 19.924

100 F E|
50 =
50 E

-100E 3
0 4 8 12 16 20 0

mean sigma = 19.107

100 F
50
op
50 E

-100E E|
0 4 8 12 16 20 0

mean sigma = 19.115

100 F E|
50 -3
of 1
-50F E

-100E E|
0 4 8 12 16 20 0

mean sigma = 19.457

100F E|
50 3
50 E

-100E 3
0 4 8 12 16 20 0

mean sigma = 20.341

100 F E|
50 =
_SOM

-100E 3
0 4 8 12 16 20 0

103km

100km

97km

94km

91km

88km

85km

82km



Monthly averaged wind velocity by MF radar at Tromsoe for July 2003
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